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Part -1
Answer any three questions :
1.  Explain “The Agriculture is a backbone of Indian Economy”. 14
2. Give the causes of low productivity in Indian Agriculture Sector. 14
3. Give the meaning of Green Revolution and explain its components. 14
4.  Discuss the advantages and disadvantages of Green Revolution. 14
5. Explain the problems of Indian agricultural sector. 14
6.  Give the defects of agriculture marketing in India. 14
7. Explain the importance of agriculture finance in India. 14
8. Give the problems of agriculture finance in India. 14

Part — II (Compulsory)
9.  M.C.Q.: Answer any four 8
(1) From which perspective India is an agriculture based country ?

(a) Income (b) Employment (c) Both

(2) The contribution of which sector decreases due to increase in the economic

development in the country ?

(a) Agriculture (b) Industry (c) Service
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When did Green Revolution begin in India ?

(a) 1973-74 (b)  1966-67 (c) 1970-71

Who was the pioneer of Green Revolution in India ?

(a) Dr. Kurian (b) Dr. Ademan Florence (¢c) Prof. Stonier

The ‘Krushk Bazar’ was started in Gujarat.
(a) True (b) False (c) Neutral

Indian farmers are not getting proper rewards.

(a) True (b) False (c) Neutral
Main sources of agricultural credit are in India.
(a) Two (b) Three (c) Four

What types of credit requirement by the Indian farmers ?

(a) Two (b) Three (c) Four




